D Effective cross section

* |tis proposed to use prompt + non-prompt components to calculate the
effective cross section
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D Effective cross section

* For single J/Y, non-prompt fraction is relatively small

48 pb' (13 TeV)
CMS

Preliminary

—

ATLAS pp s =13 TeV

_26f" p_<60GeV
JLat = 140 " p! 260 GeV

J /W ***w Fﬁ"w»é} +

®®

T eegeet ety
o® *"

@

.
o

J/y non-prompt fraction
Non-prompt Fraction
o O o o

R e LTS

oo -+ .
+ : ly"*| < 1.2 Dimuon16
" "| < 1.2 Dimuon10_Barrel
—%— 0.4+ NP fraction 1.50 < |y| < 2.00 1.2 < |y"*| < 2.4 Dimuon16
——— 0.2+ NP fraction 0.75 < |y| < 1.50 ’
—— NP fraction 0.00 < |y| < 0.75




	幻灯片编号 1
	幻灯片编号 2

